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I try ICE175 {|Jpos2| yield pos2 }

def try(re, str, pos)

try cat(re, str, pos) <32| yield po>
try alt(re, str, pos)%sa yield po>
try rep(re, str, pos) <32\ yield po%

end
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» Arrayf#feach @7 OYJADS return LTW3S

def ematch_include(r, str)
enumre(r).each {|s|
<eturn tru>if str.include? s
}
false

end
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Proc &£ % : lambda

a Ickd Proc DERK
a {|args| code }
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% ruby -e 'p lambda {|v| v + 1}’
#<Proc:0xb7e1c870@-e:1>
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ProcOUH L: Proc#call

* lambda {|v|v *2 }.call(3) #=>6
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I % ruby -e'
def m(&block)
p block
end
m {lv|v + 1}
#<Proc:0Oxb7d7acc8@-e:5>
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I % ruby -e'
def lambda2(&block)
block
end

p lambdaZ2 {|v|v + 1}
#<Proc:0Oxb7debcfc@-e:5>
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def countup2(first, last, pr) /g,
I | = first EITHER:
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| += 1
end
end

countup(1, 3, lambda {|i|pi})
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def countup2(first, last, pr) def countup(first,last)
I | = first | = first
while | < last while | < last
<pr call> yield |
| += 1 | += 1
end end
end end
countup2(1, 3, countup(1,3) {|v| p v}
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def ematch_include(r, str)

enumre(r).each {|s| r=[:alt, "a","b"]
return true if str.include? s str="c" DL
i | S Ha" S=Hb"
A5e Array#each
end

ematch_l ncll r=[:a|t,"a","b"]
S’[F="C"
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value =0
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value =0
counter = lambda {
value +=1
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p countur.call #=>1
p countur.call #=>2
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counter=#<Proc>
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def ematch_include(r, str)
enumre(r).each {|s|
return true if str.include? s
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e var=10
increment = lambda { var += 1 }
doubleup = lambda { var *= 2 }
o increment.call #=>11 var i
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def ematch_include(r, str)
enumre(r).each {|s|
” |
= str.include? s
return true if found

}

false
end
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def makecnt

v=20

lambda{v+=1}

end

p makecnt.call
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- break
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break if /~ END S/ ="line
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» Arrayf#feach @7 OYJADS return LTW3S

def ematch_include(r, str)

enumre(r).each {|s| r=[:alt, "a"."b"]
return true if str.include? s str="b" DL
i | S="a" S—
A5e Array#each
end .
ematch_inclt If=[161|t,'%
Str= /
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» def m(&b) * defm
p b.call(10) p yield(10)
end end

mivlv+2} #=>12 m{lv|]v+2}#=>12
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° defm = defm
p yield(20) p yield(20)
end end

add1 = lambda {}v| m{vlv+1} #=> 21
v+ 1
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m(&add1) #=> 21
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o defm
p yield(10)

end

def n(&b)

m(&b)

end
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n{lvlv*2} #=> 20
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e def m
p yield(10)
end
def n
m {|x| yield x}
end
n{lviv*2} #=>20
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def try(re, str, pos, )
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try_cat(re, str, pos, )
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try_alt(re, str, pos, | &b )
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try rep(re, str, pos, &b

end
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« def m(&b)
b
end
m{p 1; break }.call
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def n

m{p1; return}
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e try Z{f>T ematch_include EEIC&N{EAT S
rx_include &<
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I rx_exact D EZ174

e rx_exact("a", "a") #=> true
I e rx_exact("a", "b") #=> false
* rx_exact(
[:alt, [:cat, "c", [:cat, "a", "t"]],
[:Cat, "d", [:Cat’ "O“, Ilgll]]]’ Ildogll)
#=> true
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try Z{E5DTEYIRLEIRAS

rx_exact([:rep, "a"], "aaaa") #=> true

rx_exact([:rep, "a"], "aaaab") #=> false
rx_exact([:cat, [:rep, "a"], "b"], "b") #=> true




String#split |- &2 XXEHDH L

 rx_exact, rx_include W28 |33 2275

o try MER25|EUIXFDEES!
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String#split Z{F

o str.split(//)

° ||app|e".sp|it(//) #:> ["a",“p“’"p"’"|||,"e||]
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rx_include M E17

e rx_include("a", "abc") #=> true
* rx_include("z", " "abc! ) #=> false
* rx_include(
[:alt, [:cat, "c", [:cat, "a", "t"]],
[:cat, "d" [:cat, "o " g"]]], "education")
#=> true
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try Z{E5DTEYIRLEIRAS

rx_exact(
rx_exact(
rx_exact(

:rep, "a"], "aaaa") #=> true

rep, "a"], "aaaab") #=> true

:cat, [:rep, "a"], "b"], "b") #=> true
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